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Time : 2. hours] [ Full Marks : 450
-2

o aa] [ qof : 450

Instructions : This paper consists of Objective Type Questions and is divided
into Five Sections :

(1) Sections I, II, Il and IV are compulsory. In addition, a candidate is
required to answer questions on EITHER English Language
OR Hindi Language (Section V).

(i7) There are in all 180 questions. Attempt as many qucstions as you
can. Each question carries 3 (THREE) marks. One mark will be
deducted for cach incorrect answer. Zero mark will be aWdrdcd tor
each unattempted qucstion.

(/i) Each question is followed by FOUR alternative answers (1), (2}, (3)
and (4). Only one of these answers is correct. Sclect the correct answer
and record it against the question by darkening the appropriate circle
in the OMR Answer-sheet by Blue/Black ball point Pen.

(iv) It more than onc alternative answers scem to be approximatc to the
correct answer, choose the closest one.

T . %% gw-99 agfusedty 9wl @ i & aun aie el § i ®

() w@us I, 10, I 3 [V iftar €1 suen orfafer angeff s emsht wmr ar &=
9T (@Ug V) & g9 & 3 B

(i) F 180 g §| ATyHfees gl F IW 3} F1 JaA H| Tedsh g 3 ()
3 A T| GAF Td TN F AU G 3% T QM| GAF Agana 5
T 9THIeh I 2|

(i) 998 99 F IR Fhfcus W (1), (2), (3) @ (4) §1 FH § Fad TF IW
ol ¥| @ W & A a9 I OMR IFR-gfwrs & I9gw g9 @ /A
T QTEE FeAH gRT FHieT L I |

(1v) afg wanien dohfelen It aet I & e gdfta & af fFrerean ot 3w |

(1) { Turm Over)



11U/101/26 (2)

1.

SECTION—I
gus—I]

(Economics And Moncy Banking )
( 37e/¥TTE T AT areT )

‘Economics is the science which studies human behaviour as a relationship
between ends and scare means which have alternative uses.” Who gave this
definition ? ’

(1) Adam Smith (2) Marshall
(3) J.B.Say (4) Robins

“srlarer 92 R ¥ R SieE S i 3l S swEn O At & ge
AHT FGER &1 A fear strar 210 ag aftumr g it ?

(1) wenfary (2) wrefer

(3) & & - (4) Tfe=

‘Economic Laws are essentially hypothetical.” Who gave this statement ?

(1) Saligman (2) Marshall

(3) Boulding . ' (4) Adam Smith .
‘srefumrer & Fram TravEs §9 @ FeaE a9 ¥ g e e g 7

(1) dfma (2) A

(3) sifes | (4) wen fory

Who is the author of this book— ‘Economics of Welfare’ ?

(1) Jevons ' (2) ‘A.C.Pigou

(3} J. K. Mechta (4) Robbins

‘Economics of Welfare'— J&ie & &g & & 7
(1) S=g (2) @& d
(3) 3. % Agar (4) Tl

( 2) { Continued)
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4. What are the various factors of production ?

(1) Land (2) Labour
(3) Capital (4) All of the above
S 5 R g - A ¥ 7 |

(1) yfw | (2) @\

(3) gt (4) 3TUH @l

5. Inditference curve is
(1) Convex to the origin
(2) Concave to the origin
(3) Parallel to the origin

(4) None of these

TEEAT T BT & 7
(1) 7 forg 3 gf IAdret
(2) 7t forg 3 gftr Tatet
(3) 7 forg & ®HIGT
(4) T & = T8
6. Who introduced the ‘consumer surplus’ first ?
(1) Taussing (2). Stigler
(3) Dupit (4) Benham
‘IORET At qEa’ 1 e gdgyw R geqd foar 7
(1) (2) femer
(3) s (4) SR

( 3) { 7um Over)
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7. What is the formula of measuring the Income Elasticity of Dcmand ?

Change of income

(1) ——
Previous income

Change in demand

(2) ;
Previous demand

Proportional change in income
Proportional change in quantity demanded

Proportional change in quantity decmandcd
Proportional change in income

AT AT A A A g 27

(4)

(1) 1 | gfedd

(4) &g S GOt it AT § snganfaes afEda
g & sgarfaes afEdT

8. How many methods are there to measure National Income ?
Ut o Y AT Y et fafear €7
(1) Five (2) One (3) Three (4) Two

( 4 (Continued )
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9. Which of the most important theory for the explanation of distribution ?

10.

11.

(1) Marginal productivity theory

(2) Demand and supply theory

(3) Classical theory

(4} None of these

ferercor it s 3 o gad it weeagf g s are ?
(1) e Iearehar i

(2) T od i e

(3) gfafae Regra

(4) 9 & IS T

Who contributed the concept of ‘Kinked Demand Curve’ ?
(1) William Falner (2) Mrs. John Robinson
(3) Paw M. Swiji (4) Fritj Macklup
Rk T 3 7 v oy f 7

(1) faform s (2) sfmfaq StT ufemea

(3) . @ &ish (4) fShast shera

‘Money is a link between present and future.” Who said it ?
(1) Crowther (2) Trescott

(3) Robertson (4) J. M. Keynes

“qgT adur aur wfasr § w1 F § F F w81 a8 F frwen @ 7
(1) FEFH (2) T

(3) TedaA (4) . o, E

( 5) (Tum Over)
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12. The market where the short term securities are traded is known as

{1} Securities Market (2) Stock Market
(3} Capital Market (4) Money Market
I SISIR &t STeuaRTIer Sfnfl F TR ST 3, weerdr ¥
(1) gfeyferaem (2) @& TR
(3) it eIt (4) HaTaNR

13. Money Market is regulated by
(1) Financial Institution
(2) Indian Comrmercial Banks
(3) Reserve Bank of India
(4} Foreign Banks, operating in India
T ST AT R i T B 7
(1) ferefrr e |
(2) wreg arftrfyes &=
(3) fo &% 3fw 3iea
(4) foreft s, STt YRA H &1Ra &

14. SEBI stands for
(1) Statutory Export Bureau of India
(2} Securities Exchange Bank of India
{3} Securities and Exchange Board of India
(4} State Export Bank of India
"Gl T EET B
(1) ifie: s st ot S
(2) Reifds e d® offs §fear
(3) Rerifder Cg couele € 1w gfear
(4) V= wHadE ¥ tw i

( &)



18.

16.

17.
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Which Bank operates Bank Rate and Open Market operations ?
(1) Cooperative Bank

(2) Central Bank of India

(3) Reserve Bank of India

(4) Nont‘: of these

F |1 SF, 3% F U g a9 Rt d=nferd Far 2 ?

(1) weert 3%

(2) Sz & A1 §fear

(3) fod o= Atw 3fgan

(4) ¥H & g

The first stage of the evolution of money was

(1) Commodity moeny (2) Metallic money
(3) Paper moncy (4) Credit money
TET & 37T T T 7aedT ot

(1) gz | (2) enfea= g

(3) @it gsn (4) 9@ gar

Which one of the following statements is correct ?

(1) Good money drives bad money out of ciréulation
(2) Bad money drives good money out of circulation
(3) Go.od and Bad money cannot circulate together
(4) Cannot say ?

Frifea & & 7 a1 Fom a0

(1) 3r=at g1, 0 qa7 1 T & aTet 3t &

(2) 0 1zT, 3T<a) g5T I 9eF & TR & §

(3) o7=a @@ it gz1 qr-Ty T ¥ A€ © gl &

(4) Fo T 48 S gFHar 2|

(7)) ( Tum Over)
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18. Which of the following can be called financial institution ?
{1) Banks
(2) State Financial Corporation
{3) IDBI
(4} All of the above
Frefafas § & fomer faxdia s s sn a&ar & 7
(1) &=
(2) Tsa faw P
(3) wdim it foeme A=
{4) 39ge quft
19. When was Regional Rural Bank established first in India ?
WA H Had qeet &sfta qrfier s 6 e g8 ot ?
{1) 1935 (2) 1975 (3) 1980 {4) 1081
20. Who is issuer of paper money of Rs. Five in India ?
{1} Central Government
{2} State Governments
(3} State Bank of India
(4} Rescrve Bank of India
R & 9T &9 3T 97 Y& (A1) HH Fifra swar @ 7
{1) #3517 g
(2) TS qE
(3) &< &% 31w g
(4) f=d &= 3w gfean

| Comtnneed )
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21. If money is not the heart of our economic system, it can certainly be-
considered its blood stream.” Who said it ?

(1) Trescott (2) Pigou

(3) Saligman (4) Hartley Brothers

“af gET et srefsraee & gay & A 0 B At 1w ¥ 9% A R ¥ 7
(1) ¥ 2) 9

(3) &forme (4) e o

22. Who may cross a cheque ?

(1) Drawer (2) Holder
(3) Banker (4) All of the above
AT T G B T FHAT & 7

(1) et (2) uww

(3) ¥ (4) i @t

23. A BIll of Exchange is drawn by

(1) Creditor (2) Debtor
(3) Sharcholder (4) Debentureholder
v fafiwa foux foar srar @

(1) SR E (2) FER g

(3) TRt gRT (4) FoTERIH Z

{ 9 ) { Tum Over)
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24.

25.

26.

27,

In which year and date NABARD was established ?

(1) 12 June, 1982 (2) 12 July, 1982
(3) 12 May, 1982 (4) 12 July, 1983
e Y e g af o atE A g R 7

(1) 12 1982 (2) 12 g 1982
(3) 12 7§ 1982 (4) 12 39 1983

How many Commercial Banks were nationalised by the Government of
India on 19th July, 1969 ?

19 J1E 1969, I WA §THER & 10 feray anforfsuss a1 &1 ugdaeor famr mar
oqr e :

(1) 5 (2) 6 (3) 14 (4) 10

U.T.1. Bank has now changed its name to

(1) Excel Bank (2) Trade Bank
(3) United Bank (4) AXIS Bank
T, &, uﬁ%wmmm%’ﬁW%

(1) e dF (2) ded%

(3) FmEs dw (4) oo s

Who is the Union Finance Minister in India ?

(1) Mr. Pranab Mukherjee (2) Mr. Kamalnath
(3} Mr. Sharad Pawar (4) Mr. Kapil Sibbal
W | el fo wet i & 9

(1) off gure qarsf (2) ot T

(3) it g wat (4) o et fysarer

{ 10 ) (Continuved)
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29.

30.
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Which Bank first introduced Mobile ATM in India ?

Wi # f § ¥ wawem Mobile ATM & @ fhar 7 -

(1) LD.B.L (2) LCICL . (3) SBLL (4) HD.F.C.
Following is Credit Rating Agency ?

(1) CRISIL : (2) ICRA

(3) CARE (4) All of the above

Frafafaa ez om i & 7

(1) CRISIL ' (2) ICRA

(3) CARE (4) Ik ait

In which yedr International Monetary F uhd (IMF) was established ?

ST 51 A Y o e ad g o ?

(1) 1935 (2) 1944 (3) 1950 (4) 1955

(11 ) ' (Tum Over)
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31.

32,

33.

SECTION—II
gus—II

( Accounting and Business Organisation )

( FETHT @7 FIGIIFH TI37 )

Double Entry System of Book Keeping was first propounded by

(1) Chanakya (2) Lee Iccocea

{3) Luca Pacioli ~ {4) Contfucious

srvETaT G Y gt afay somelt 79 & weet e gE Y o ?

(1) T (2) < shifear
(3) v Afaredt (4) FREE
What is the nature of Goodwill ?
(1) Dog Goodwill (2) Cat Goodwill
(3) Rat Goodwill (4) All of the above
Tt &1 @We (i) | e 7
(1) g0 & @9 (2) forgt & =
(3) RF@IE (4) Iugw et
Which method of Depreciation is must suitable in the casc of mineral
deposits ?
(1) Depletion Method (2) Revaluation Mcthod
(3) Annuity Method (4) None of these
Wi S ot aen # qed 5 ot i faftr ety @ 7
(1) emefercor fafey (2) e &
(3) arfiy fafer & (4) T & T

( 12 ) _ (Continved )
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3.4. Machine cost Rs. 5,500, Life 10 years, Residual Value Rs. 5,000, cach

3s.

36.

year’s depreciation according to Straight Line Method would be
{1} Rs. 5,000 _ (2} Rs. 6,000
(3) Rs. 5,500 (4) Rs. 500

Y ) ST 5,500 Fo, ST 10 o, T I 5,000 Fo | Heh e iy
¥ gdd a¥ #T W any

(1} 5,000 % {2} 6,000 %o
{3) 5,500 %0 (4} 500 %o
Income and Expenditure Account includes figures rclated to
{1} Previous Year | (2} Current Year
{3} Future Year {4) - All of these
I -344 @ra § gfeirfera wef o sew
(1) easddard (2) arqad & v 2
(3) W Faf § dar (4) Faiaf A dar
Which of the tollowing is the Accounting Equation ?

(1) Capital = Assets - Liabilities
(2) Capital = Assets + Liabilities
{3} Assets = Liabilities - Capital
{4) Liabilities = Assets - Capital

St et i i & 39 a1 3 7
(1) 460 = st - s
{2) §§ﬁ=mﬁ1ﬁ+aﬁc—cr

(3} st = afdes - it
(4) =feeT = gufet - G

[ 13 ) {Tum Cher)
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37. Secret Reserve will be shown in

38.

39.

(1) Profit and Loss Account

(2) Profit and Loss Appropriation Account

(3) Balance Sheet
(4) None of the above

™ w=w Frefafaa & feamr s @

(1) am-g1f @mar &

(2) anv-gify Faee @ 8
(3) ford fommur &

(4) 3udw & @ A T

Ledger is a principal book in which

(1) All accounts are kept

{2) Only personal accounts are kept
(3} Only real accounts are kept
(4) Only nominal accounts are kept

arar IE O O e S R R

(1) & @ W@ IR &
(2) ¥aa AHTd @ W@ S8

(3) ¥act arafas @ @ S &
(4) FaAAIF F @A @ IQ L

The balance of Petty Cash Book is

(1) an asset

(3) anIncome

G AFS A A AT
(1) o gafy

(3) & s

(2) aliability

(4) an expenditure

(2) =R

(4) wF s

14 ) (Continucd}
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41.

42.
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Outstanding Expenses are shown as

(1) an expense (2) an income
(3) aliability (4) an asset
a7ed syl @ (e & w9 A Ramar srar g

(1) =g (2) @ a@
(3) TR (4) wEuR

An example of Intangible Asset is

(1) Goodwill

(2) Debit balance of Profit and Loss Account
(3) Preliminary Expenses

(4) Deferred Revenue Expenditure

YT G FT T I &

(1) enfa

(2) amv-a1f @ & ez A
(3) e g

(4) FTeafra ST

Object of preparing Trial Balance is
(1) to check the arithmetic accuracy of accounts
(2) to check the accounting book in complete and total nature
(3) to find the economic condition of business -
(4) to get the information of assets and liabilities

T S B Ed e —— ¥

(1) @rdt &t 3t T gear i S wEAT
(2) Tt & quf o forega e T

(3) =R H anffer feufa & gar s
(4) Tufat ud gfieat Y STHSRY 918 FEAT

( 15 ) ¢Tum Over)
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43.

44.

45.

46.

" Which of the Assets below are fixed ?

(1} Carts (2) Cash (3) Fumniure  (4) Debtors
ﬁwﬁ'@faﬁqwﬁréﬁ%?

(1) g (2) g (3) otaR (4) 3R
Goods sold on credit are recorded in — -

(1} Cash Book (2) Sales Book

(3) Sales Return Book (4) Journal

JoITC 353 T T T T ——— i R T B

(1) TFg g (2) fomra gea

(3) fo i g 4) wha

Which of the following government in India followed the education of
Accountancy first ?

(1} Government of Dclhi (2) Government of Bihar

(3) Government of Mumbali {4) None of these

Wie i ST & R # sigeter weven fRw g T

(1) R e (2) fremad
(3) Heg wem (4) % & FrE 7
Single Entry system of accounting is
{1} Best System {2} Scientific System
{3} Most Popular System {4} Incomplecte System
et gfafy woneft @ femmer frarer Y
(1) watam gomedt (2) drFe gomedt
(3) gatfs Al gomelt (4) sl reht

(16 )
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47. Under Hire Purchase System, the ownership of property remains with

48.

49.

50.

(1) ‘Buyer

(3) Guarantor

.(2) Owner

(4) None of the above

fortaT # agfa % sl duftr R w@fired 31 arg aT @

(1) shar

(3) sferyferpmit

Interim Dividend is shown in
(1) Revenue A/c

(3) Capital A/c

(1) 3 @ &

(3) o @ |

Liability of Sole Trader is

(2) @Y
(4) g i § = T

(2) NetRevenue A/c

(4) None of these _

(2) g @
(4) & A I

(1) Limited (2) Unlimited (3) Undecided (4) Qualified

TSI AR &7 &1fedt 2T @
(1) i (2) el

(3) fuifa (4) waifsa

Partner and Firm are mutually related

(1) Management

(2) Servant

(3) Agent (4) Shareholder
AR 3R Bif T arEfien Ga Bt 2

(1) gey & (2) &% &

(3) W a (4) v &

( 17 ) ( Tum Over)
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51. Nominal Partner is that who
(1) Invest nominal capital (2) Earn nominal profit
(3) Allows the use of his name (4) Allows limited liability
v e s e B, <
(1) W#iﬁﬁm% (2) T ST AT qTET R
(3) AIFIWHF AT FAIME  (4) e e A T B
52. In company risk is born by
(1) Directors | (2) Shareholders
(3) Creditors.of Company (4) Managing Director
el i e 3ary et |
(1) &= (2) st
(3) &t & F_R (4) g9 gaT
53. RﬁgﬁnaﬁonofCoopmaﬁveSodedesm
(1) Voluntary (2) Compulsory (3) Harmtful - (4) Desirable
gert afufeal &1 osfia
(1) U= (2) e (3) s (4) s
54. The Indian Partnership Act was came into force from the ycar
Il AR AT @ af & mwawier gom o

(1) 1932 (2} 1940 (3) 1948 (4) 1956

{ 18 ) tContinued )
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Advertising is

(1) a wastage {2) an investment
(3) aLukury (4') inessential
EEIEER

(1) T s (2) ok fafa
(3) o faenféar . (4) FEEF

Amendments were made due to Liberalisation Policy

(1) In Industrial Policy

(2) InIndustries (Development and Regulation) Act, 1951
(3) In M.R.T.P. Act, 1965

(4) In all the above

Jeri Hifq & aiarta genae R

(1) sienfie Afg A |

(2) sirenfi (fore o ) arfifaam, 1951 &

(3) TR & STatye A a9eR JAfufay, 1965 #
(4) sogw ot §

Which one of the following is the oldest form of organisation ?

(1} Functional Organisation

(2) Line Organisation

(3) Line and Staft Organisation
(4) Departmentation

Frefafias & @ 17 o SeT 1 ged QAT () €97

(1) Frigee qrad

(2) g g

(3) Tt ug FEw greT
(4) fevmfiertar

(19 ) ( Tum Over)
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58.

59.

60.

In the case of a deemed Public Limited Company the maximum number
of members is restricted to

forelt wwgen araefer Rifee st & Aoy § 9wt # iean gen gfvafie
&

(1} 10 {2) 30 (3) 50 {(4) 100
Converting a public company into a private company requircs a special
resolution '

{1} Passed by members

{2} Passed by members and approval of the Registrar of Companies

(3} Of the member and approval of the Company Law Board

(4) Of the member and approval by the creditors

QrasE T @ ST FET § aee F O st ¥ o ey e

(1) wgwt g aife & |

(2) wewt g aifte € i ot demer gro sigtfes &

(3) wawil & 3 39 W T fafts i & argrve &

(4) wewdt 1 1 Sl 30 W TG 1 A &

Which one of the following is not a form of business organisation ?

{1} Sole proprietorship (2) Partnership

{3} Charitable Trust (4} Joint Stock Company
Frafafed § & 1 Fawm™ T3 F UF T TR 7

(1) T AR (2) sl

(3) i e (4) 6TF &Yy gusT

{20 ]
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SECTION—III
gus—III

(G. K. and Current Affairs )
(G 317 )

The ‘Teachers Day’ is celebrated every year on which of the tollowing

days ?

(1) Sth September (2) 15th August

(3) S5thJuly (4) 15th October

faeifend faferat 3 & forw R ferad “Rrerer Reaw” wamar smar & 7

(1) 5 fGarr (2) 15 3T

(3) 5978 (4) 15 a?gar

Nationalisation of Life Assurance was done in the year

Site &tHT #1 Ugiaeer fhar mar ay

(1) 1950 (2) 1956 (3) 1970 (4) 1971

The first Stock Exchange in India was established in

(1) Kolkata (2) Delhi
(3) Mumbai (4) Chennai
I H G e why forafT wrfia gar

(1) sierhrar (2) fegt

(3) g% (4) ==

(21 ) { Tum Over)
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64. The Securities and Exchange Board of India, Act (SEBI) was passed in

65.

66.

the year
(1) 1990

(3) 1992

(2} 1991

(4) 1993

et gfengfer fafamar o (@) stfufiem o farar ma

(1) af 1990 &
(3) af 1992 &

(2) af 1991 ¥

(4) ag 1993 #

Which of the following is a type of tax levied by the government on

goods and services ?
(1) PAN

(3) SAT

Frefena # @ #1787 R TR & g0 aegAl 3R FITA O ST HIe @ ?

(1) 4=
(3) ¥

(2) NET

(4) VAT

(2) ¥
(4) 3=

Who is the Union Agriculture Minister in India ?

(1) Mr. Kamalnath

(3) Mr. Pranab Mukherji

RA | o Y At i 2 7
(1) =i e

(3) s gor it

22

(2) Mr. P. Chidumbaram

(4) Mr. Sharad Pawar

(2) ot dro Femaw

(4) 4 ;g 99X

(Continued)
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69.
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‘Aamer Fort’ is located in which State ?

(1) Gujarat (2) Assam

(3) U.P. (4) Rajasthan

‘SR o P T R 7

(1) s (2) @™

(3) T (4) TSR

Which of the following is the Centre for British N ewspapérs ?
(1) Wall Street (2) First Street

(3) Fleet Street (4) Press Street

ffergneR S # FEFTar g ?

(1) st &R (2) wR &

(3) e &R (4) W

The Headquarters of the Europcan Economic Community is at
(1) Brussels (2) Copenhagan (3) Bonn (4) Paris
Qe fie FEr i geaed &

(1) s (2) oA (3) s (4) A

What is hacmoglobin ?

(1) A substance found in plant leaves
(2) A substance found in bone marrow
(3) A substance found in human blood
(4) A secretion of pituitary glands

faraifar | & ?

(1) ot &t ofwat ¥ grar S arer gerd
(2) & 8T o 9T S g geret

(3) AT o ¥ grar S e gerd
(4) fogget oty & Fee aen g

{ 23 ) . (7Tum Over)
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71.

72.

73.

Indian Government has established some ‘Biosphere Reserves Centres’
in the country. Which of the following reserves was cstablished first ?

(1} Gulf of Manner (2} Sundervan
(3} Nilgiri (4) Nanda Devi

WA §R A AW § §8 ‘Yavsd §td ' o Ry §) Peafafea § @
o1 &7 o qr o femr mar ? | '

(1) 93w & grgr (2) g<t==
(3) =t {4) eyt

Colours in a colour Television are produced by a combination of three
basic colours. These are ’

(1) Red, Blue and Orange
(2} Red, Yellow and Blue
(3) Red, Yellow and Green
(4} Red, Green and Brown

& ot e A fir oo ol S Ry o e &1 3 8

(1) @, e qur et
(2} avat, S avr fier
(3) ama, e aur za
(4) &, & au yu

‘Food, Work and Productivity’ was the slogan given in

(1} Seventh Five Year Plan

(2} Fifth Five Year Plan

(3} Election Manifesto of the Janta Dal
(4} UN Charter of human rights

‘o, W 3 Jarw’ & I Gefafas § far man
(1} amadf qaadfa aemn

(2) wwdt quadf d=T

(3) IQT & N FATG QGO TF

(4) Y TP & AHQATVHR GvT I

[ 24 ) { Corrtinued )



74.

75.

76.

77.

11U/101/26 (2)

The most important aspect of ‘Folk Song’ is

(1) Entertainment ‘ (2) Development of Music
(3) Preservations of traditions (4) Source of livelihood
it a7 g e 2

(1) WIS % o (2) @ 3 foreprg &

(3) TRt & aegor § (4) shfsmpiarsia & ford
Venezucla is world’s one of the largest |

(1) Banana cultivators (2) Zinc mining States

(3) Heroin producing countries {(4) Oil producing centres

e fSva i geg agr

(1) FET IeaTeH a9 & (2) = 4T aT v ®
(3) WHA IEH W R (4) ¥ 3UEH FH &
When is *“World Litcracy Day’ observed ?

(1) October, 10 | (2) December, 20

(3) November, 30 (4) September, 8

“forva arewar Rag’ se mARTSE@TR ?
(1) 10 37T (2) 20 fegrar
(3) 30 Fa=R (4) 8 fyarsx

The recent ‘Commohwealth Games’ were held at

(1) Tokyo (2) Shanghai (3) Delhi (4) Perth
T & H ‘Fmdey gfaafiand g9 off
(1) afFard (2) vEEH (3) fegtd (4) wefs

( 25 ) ( Tum Over)



11U/101/26(2)

78.

79.

80.

81.

The Planning Commission of India is

(1) an Autonomous body (2) an Advisory body
(3) a Constitutional body (4) a Statutory body
T 7 T ST &

(1) @ wrowe wer (2) T GATEFER G
(3) T werunfes w (4) e e wee

When an information is dialed on the telephone and read on the television
screen, it is known as

(1) Telex (2) Teletax (3) Teletex (4) Teleprocessing

Al I FIAT GO GRT SIS s =7 eI S o et ol o o av 39
FEd &

(1) &= (2) i (3) e (4) torafan

Method of recording three-dimensional photographs using Laser
Beam is

(1) Halography (2} Xerography (3) Vidcography (4) Audiography
framam & Sex T (aft) it gerEar @ swartas e Y iy s am ?
(1) TR (2) sty (3) difs@mmdr - (4) orifednmdy

The book entitled ‘Planning and the Poor’ has been authored by

(1) B.S. Minhas (2) L.C. Jain
(3) Gunnar Myradal (4) L.K. Jha

‘QIfT g QR AT T G ¥ @R &

(1) o TEo firgE (2) G0 Hto 37
(3) TR firde (4) o Fo 7

( 26 ). { Continucd)
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The tamous Jama Masjid of Delhi was built by

" (1) Humayun (2) Shah Jahan
(3) Akbar - (4) Ibrahim Lodhi
feght &t aftrg T wfesrg & fmitor frem femar 2
(1) g (2) wmeset
(3) st (4) gsEm St
Who is known as ‘Father of White Revolution’ in India ?
(1) M.S. Swaminathan (2) V. Kurien
(3) B.P.Pal (4) K.N. Bahal
IRA & ‘vad FA F b P
(1) THo THo F&THHTIA (2) o HfEA
(3) dfto dro g1t (4) 3o Wo F&d

The tax on Import and Export is known as

(1) Income Tax (2) Trade Tax

(3) Custom Duty (4) None of the above
AT TF FTd 9T I a1 R Rt foRe AT & ST ST 8 7
(1) Jmaa (2) AT H

(3) S = (4) ITE & & &5 7
Centre tor DNA Fingerprinting is located at

(1) New Delhi (2) Bangluru

(3) Pune (4) Hydrabad

<o To o AR fifrer & R @

(1) g | (2) e d

(3) gur#H (4) FERH

( 27 ) ( Tum Over)
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86. Who among the following was the founder of the ‘Satya Shodhok Samaj’ ?

87.

88.

(1) Dr. B. R. Ambedkar (2) Jyotiba Phule

(3) Narayan Guru (4) Ramaswamy Naicker
Frefofiga & & w7 “acx My guer a1 G o ?

(1) o afto 3o T (2) aifdaT gt

(3) TREUTE (4) ToTETHT TR

‘Special Economic Zones’ are being set up in U.P. at
(1) Agra, Kanpur and Noida

(2) Agra, Kanpur and Greater Noida

(3) Meerut, Moradabad, Kanpur and Noida

(4) Moradabad, Kanpur, Noida and Greater Noida

Faoey 7 ‘ffte anfife 7’ (@) @ i sw@

(1) AR, FER R g A

(2) WRY, FAGL A I AT d

(3) WS, quErETE, HFAY A Aaer §

(4) YRR, FAYL, TGSl R F Ager §

Which one of the following pairs is not correctly matched ?

(1) Diesel Locomotive Works : Varanasi
(2) Indian Telephone Industries : Rae Bareli
(3) Bharat Electronics Ltd : Noida

(4) Oil Refinery : Mathura

Freaforfaw gt & 23 an g T 47

(1) et Armifed g « aroomt
(2) sfea eftatT e : T Rt
(3) wRa goRIfew &0 : Arrer

(4) %asﬁmmqgu

{28 )
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89. The Fourth estate is

(1) Press (2) Property (3) Metals (4) Tax
(1) % (2) wufwr (3) uig (4) &

90. In the U.P. and M.P. States ‘The Joint Rajghat River Valley Project’ is
launched on

(1) Ken River (2) Son River
(3) Chambal River (4) BetwaRiver

T 3 e s i ‘g e T AR 3
(1) FIF® (2) ST W

(3) I I X (4) SqETIH

( 29 ) (Tum Over)
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91.

92.

93.

94.

SECTION—IV
gug—IV

( Mathematics)

( a7forer )

Ram’s expenses are increased from Rs. 730 to Rs. 876. The percentage

increase 1s

T & @4 730 899 § 9@ 876 ¥4 & 1< &1 9qwd Ifg @
(1) 10% (2) 20% (3) 30% (4) 40%

In an cxamination 15% of the students failed. while 1275 students passed.
The number of students appeared in the examination is

foret wlter o 15% o= sigeiiel g sl 1275 23 3wl gy ofe | gt fha
a1 |ififTd §q
(1) 1000 (2) 2000 (3) 1500 (4) 2500

The value of 251% of Rs. 1500 is
2

1500 %o &7 25-% ¥
2
(1) Rs. 387.5 7% (2) Rs. 382.5 &3

(3) Rs.487.5% (4) Rs.482.5 %94

If percentage of saving on income is 25. Then percentage of saving on
expense is
fE 3@ O q=d &t giawdar 25 2 dt 537 | F9d it giawredn

(1) 15% (2) 25% (3) 66°% (4) 33:%

3

( 30 ) ) (Continued)
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In a competitive examination 2000 students appeared out of which 500
students sclected. The percentage of examinees not selected is

ferelt gfomt wlam & 2000 s wfmifae gu Sed & 500 sm =aiHa )y
gt 9 g 12 olreniay s afcea @
(1) 75% (2} 25% (3) 33'% (4) 45%

3

The cquivalent discount rate tor successive discounts 10%, 10% and 5%
1s

10%, 10% 31T 5% FAPTT agf & e 97 & &
(1) 25% (2) 23.05% (3) 24% (4) 22.75%

A radio deuler sold a radio for Rs. 480 the list price of which was
Rs. 580. The rate of trade discount is

o el fazan 3w e 480 w0 § <1 oo gt neg 580 €99 o1, s
CEE D RAR
(1) 172% %(2) 20°% (3} 113% (4) 91

29 6 6 1
Find the rate percent of discount if a scooter which costs Rs. 8,000, the
purchaser paid Rs. 7,800

ok TR R A 8,000 ¥o off WAL @ @liegy ¥ 7,800 T Bu)
1 0 e 1 A
(1) 2.5% (2) 1.5% (3) 3.5% (4) 0.5%

The avcrage age of 25 persons is 30 ycars. The average age increased
by 1 vear, if ages of 5 other persons are also included. The average age
of these 5 persons is '

25 st A slaa s 30 ad 31 5 o Rl B 3w A A Y W s
R 1 ad gg oAt ¥ 59 5 Al i sied 3w R
(L) 18 (2} 36 {3) 31 (4} 54

£ 31 ) { Yum Over)



110/101/26(2)

100. Average age of 30 students of a class is 15 years. Average age remain

101.

102.

unaltered even if 3 new students are admitted. The total age of three
new students is

forelt e & 30 oOi St g & 3REE 15 ¥ &) 3 AR BE & g9 F g ft
3ftwa g rafafda wdt 21 9% 3 ot &t 37 # A R

(1) 15 years () (2) 30 years (aw)
(3) 45 years (auf) (4) 60 years (auf)

A General Manager gets a commission on 20% of the net profit of the
business. If the profit of the business stands at Rs. 2,450. Find his
commission.

.@WWﬁW%WWﬂZO%WW%IWW
T AT 2,450 To & al IuhT HHIH Fa3y |

(1) 408.33 (2) 508.33 | (3) 608.33 (4) 308.33

A Manager of a firm is to be given commission at 25% on nct profits
after charging the own commission. It the profit prior to charging
manager’s commission is Rs. 25,000, then find thc amount of
manager’s commission

o i ¥ BIR F 36 @ ¥ FHHNH F G F A ¥g o W 25% FATH
fear smar ¥ afe AR & wftyw A R F @ & F am 25,000 o &
at AASK 3 e St gATTIT Sagd

(1) Rs. 1,000 &5 (2) Rs. 2,000 &

(3) Rs. 3,000 &3 (4) Rs. 5,000 ¥

( 32 ) { Continued)
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A dealer buys a radio for Rs. 1,050. He wants to earn a profit of 30%-

after allowing 121% discount. What price should be fix for the radio ?
2

& Al ¥ 1,050 %o ¥ wk W @lier| a7 12°% g W 30% & FAFT
2
qrear &1 Sargd f ag WA & fawa g = Pyl 7

(1) Rs. 1,360 % (2) Rs. 1,460%
(3) Rs. 1,560 % ‘ (4) Rs. 1,660 %

If a suitcase of Rs. 240 is sold for Rs. 202 only loss is

240 Fo T FIHY Hhaet 202 Fo ¥ = W & gy _
(1) 15°% (2) 152% (3) 182y (4) 182%
' 6 8 . . 50 6

Selling price is equal to .
(1) Purchase Price + Loss % (2) Purchase Price + Loss

(3) Purchase Price + Profit % (4) Purchase Price + Profit

ﬁiﬁq\a‘xw%
(1) FIT + B % (2) e + 7T
(3) HIHE + A% (4) I + AN

A trader gains 207% at the selling price. The percentage of profit on the
cost price is

Teh ST fsha e T 20% @™ ST ¥ | T & anTd I W gfaed @

(1) 163-% (2) 33°% (3) 25% (4) 66°%
3 2 3

{ 33 ) (Tum Over)
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107. Calculate the simple interest on Rs. 1,268 tor 219 days at the rate of

108.

109.

110.

1
6-% per annum -
4

6-% arfier sarer Y T A 1,268 &9 7 219 & 71 |remr ;a1 @ Fifvw
4

(1) Rs.47.55%9% (2) Rs. 57.55 &9&
(3) Rs. 37.55 &4 (4) Rs.27.55 &R

What principal will gain Rs. 120 as simple interest at 6% per annum in

2
2-years ?
3

fre qerem a1 22 af § 6% affs = & @ & QR saw 120 9 &
3

ST ?

(1) Rs. 650 & (2) Rs. 750 93

(3) Rs. 850 ¥ | (4) Rs. 550 ¥7¥

A sum of money doubles itself in 50 years at a certain rate percent of
simple intercst. How long it will take to double itself at the same rate
of compound interest ?

Wwﬁaé#msoﬁﬁaﬁﬁmélmﬁimﬁ

T & SR R wwar & @it ?
(1) 25 years (aut &) (2) 27 ycars (Iut )
(3) 35 years (aut ) (4) 37 years (a§t #)

What should come in place of question mark ( ? ) in the following scrics ?

FrifeRd SraerT & 99 g9 (7)) & I W a1 8T 91T ?
5,10, 20,40, (?), 160

(1) 80 (2) 100 - (3) 120 (4) 320

( 34 ) {Continued)
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Find the value of

HIT §1d HifST
63.42 x 7.639
(1) 384.4 (2) 484.4 (3) 387.4 (4) 4874

What percent is 125 metre of 3 kilometer ?

125 Hiex 3 forcinfiet & fpam afqwa 8 7
(1) 4% (2) 42% (3) 4°% (4) 4°%

6 6 6 6
In a class there are 100 students and their average age is 15 years.
Five students have left the class and their ages arc 17 years, 15
years, 16 ycars, 13 years and 14 years. Averagc age (in years)
of the remaining students is _
o Hem § 100 B § ofk T oftma Ry 15 af ) Fam A 17 av, 15
af, 16 ad, 13 af 3t 14 af $t g F uig B S F I I1d & | HaT
& AT BT AT 3w o1y (I H)
(1) 15 ycars (2) 15.7 years
(3) 16.1 years | {4) 14.8 years
A and B are partners in a firm sharing profits and losses in the ratio

ot 3:2. C is admitted as a partner with 1/4 sharcin protits. A and B will
share profits in future cqually. Find the new profit sharing ratio.

o7 3K & o o o wrdEr &1 Reer emr-wify @1 ogwa 3:2 31 g 1/4
T & ford Grgier amT Srar &1 vfos § o7 qur awmaﬁaﬁwm
BNTT| 73T ST- 81 7T 1 S|

(1) 3:3:2 (2) 3:2:1 (3) 3:3:3 (4) 3:1:3

{ 35 ) { Tum Over)
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115.

116.

117.

118.

119,

120.

Find the value of

qH g HifaT
(5)*x(3)2+(5)?

(1) 40 (2) 45 {3} 50 (4) 55

Select the correct answer

#a 3w ghe
I5x15x15=7
(1) 4545 (2) 3545 (3} 3375 (4} 3030

A person buys a car for Rs. 10,000 and sells it at Rs. 12,500 less
25% discount. Find his gain or loss percent.

F JF @ R 10,000 Fo § @ligar & X 12,500 %o & 25% 37 Fea
Jaar 8| IFE ATH-&1T v sfavE g S

{1) 5.25% {2) 6.25% (3) 7.25% (4) 8.25%

At what rate of simple interest will Rs. 800 amount to Rs. 836 in 9
months ? '

forer gfererer GTemeT s Y W & 8OO0 Fo 9 AR W 836 ¥o & I 7

(1} 3% (2) 4% {(3) 5% (4} 6%
Find the valuc of
I 1 HiST
7.5%1.5
0.5 _
{1} 3.50 {2} 2.50 {3} 2.25 ' (4) 2.00

What should come in place of question mark { 7) in the following series ?

Fretifera sraen § 997 g9 (7)) F SIF W T 87 TRy 7
10, 20, 40, 80 {?7) 320

(1} 160 (2) 180 (3) 240 {4) 640

( 36 ) {Continued ).
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SECTION—V
|us—Vv
(ENGLISH LANGUAGE )

[ For the Candidates Opting for English Language )

Directions (Q. Nos. 121-124): Select the word nearest in meaning to the
given word : '

121. Quit

(1) resign (2) join (3) be quiet (4) work
122. Endeavour

(1) attempt (2) last (3) appeal (4) announce
123. Instigate

(1) pacify (2) provoke (3) givepeace  (4) enter
124. Vigilant |

(1) alert (2) lazy (3) weak (4) careless

Directions (Q. Nos. 125-128) : In each of the given sentences select the word
which is opposite in meaning to the underlined word to fill in the blanks:

125, Take this stale bread away and bring the —— one

(1) new (2) rotten ' (3) fresh (4) sweet
126. Such talks are absurd ; you should indulge in —— talks.

(1) rational (2) foolish (3) wrong (4) correct

¢ 37 ) ( Tum Over)
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127. Nature teaches. us not to destroy but to ——.

(1) invest (2) produce (3) make (4) create
128. ngcrally she is cautious but sometimes she is —.

(1) rash (2) kind (3) careful (4) fast

Directions (Q. Nos. 129-132): Choose ihé correct preposition to fill in the
blanks :

129. We should rely —— our own cfforts.

(1) in (2) on (3) for (4) through
130. There is no exception — this rule.

(1) to (2) for (3} into (4) from
131. [Ideliberately refrained —— speaking more.

(1) from (2) in (3) against (4) with
132. He was born —— humble parents.

(1) from (2) on (3) of (4) oft

Directions (Q. Nos. 133-136) : Fill in the blanks with the correct form of
the verb:

133. I—— a new scooter last week.
(1) is buying (2) was bought
(3) bought . (4) was buying

( 38 ) {Continued )
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134. He —— asleep while he was driving.

(1) fall (2) ftelled (3) falled (4) fell
135. I—— the letter betore he arrived. |

(1) have written (2) had written

(3) had wrote (4) hud been written
136. They — cricket for two hours.

(1) are playing (2) have been playing

(3) were playing (4) havc.been play

Directions (Q. Nos. 137-140) : Select the word which has been wrongly spelt :

137. (1) ceremony (2) beneficial
(3) delicious (4) guargian
138. (1) height (2) jealous
(3) disgise : (4) violate
139. (1) ncighbour (2) ommission
(3) whistle . " (4) wrinkle
140. (1) sacrifise (2) sufficient
(3) valuable (4) mosquito

Directions (Q. Nos. 141-144): Select the part of épeech of the underlined
word in the given sentences :

141. Every man wants to be happy.
(1) Pronoun (2) Adjective
(3) Determiner (4) None of the above

( 39 ) { Tum Over)
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142. He always walks with a li.mp.

(1} Adjective (2) Adverb

{3} Verb {4) None of the above
143. One hardly knows what to do.

(1} Noun (2} Personal Pronoun

(3) Indefinite Pronoun (4) Relative Pronoun
144. The show opens at six o’clock.

(1) Transiti\{e Verb (2} Intransitive Verb

(3) Auxiliary Verb (4) None of the above

Directions (Q. Nos. 145-148) : Change the given sentences into the passive
voice :

145. They found him guilty of murder.

(1} He is found guilty of murder.

(2) He was founded guilty of murder.

(3) They made him guilty of murder.

(4) He was found guilty of murder.
146. Who has written this letter ?

(1} By whom this letter is written ?

{2) By whom have this letter writ.tcn ?

(3} By whom has this letter been written 7

(4) By whom has this letter written ?

P40 )
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147. They crowned him king.
(1) He was crown king.
(2) He was crowned king.
(3) He crowned by the king.
(4) Him was crownéd king.
148. You surprise me.
(1) Me is surprised.
(2) Iam surprise.
(3) 1am surprised.
(4) Iam surprising you.

Directions (Q. Nos. 1'49—150): Fill in the blanks to complete the following
proverbs :

149. Rome was not built in ——.

(1) aday | | (2) one day

(3) adecade B (4) one year
150. Necessity is the —— of invention.

(1) result (2) parent

(3) mother | ' (4) father
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151.

152.

153.

- 154.

18S.

156.

SECTION—V
gug—V

(HINDI LANGUAGE )
( fe=dY i)

[ For the Candidates Opting for Hindi Language)
[ ot s g aed ol & Frg
Frfafaa #f A g1 e, Nfveg A A 2 7

(1) o (2) 7 (3) @ 4) &
‘R gEer R wfT AT TR Y

(1) godie™ (2) s (3) @m (4) @A
‘G- aet R A R e ?

(1) ghafy (2) arerF™rvE

(3) wRdg . (4) Afdrefreror v

“sregfien 0’ e et ) e ST 7

(1) gz ot e (2) 3ur ey

(3) weredt ant (4) wUfert TEg

RreaferRaa o & T 7 TSHR, TSISHHR 6 HFeia T8 e ?

(1) ™ (2) aw= - (3) &= (4) wW
‘aR weg g-gf a8, ardf ot & of'— 7% R St i aRT 2 7
(1) =Y (2) ™ (3) aueh (4) sryiaw=g

(42 ) { Continued)
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i e AT € eRalT, SR Uit ST Al |
AT % off g &5 &, 7% 997 & A Al
— 399 9k § FF a1 AHN TG & ¢

(1) 3T (2) I (3) &9 (4} Igu

arE aftg of T A, o e & f Ry
aftE 13E oA it Ant SfaT & RaEny
— it § 99T R HT 999 &)

(1} 3uymm ' {2) §9%

(3) AHfavate {4) I
et iy re e S emf @ 9 7

(1) Hfdar (2) ae®

(3) FErH {4) afaa Fam
fey & aoriehY ferr 35 SR R B 7

{1} ¥Rdg {2) 'St auganT ant

161.

162.

163.

(3) eeHiaTTaT Eret (4) IR

wEr ¥ 9ot wiaar gy d @2 ?

(1) @t arh (2) orarely

(3) st (4) sar RfiE s

e & & G yisg ‘TR’ @Rt e et 8 P

(1) 2raer (2) foraer (3) faufar (4) T
Pty s o Al e adie?

(1) @ (2) ggmr (3) &=m (4) sraq

{43 ) { Tum Over)
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164.

168,

166.

167.

168.

169.

170.

171.

ﬁmﬁrf@aﬁ_ﬁ?mwﬁa%?
(1) @ (2) amn
Frafafas & fim wsg safa fifsg
(1) frge (2) H
‘g’ &t g faetw i ik
(1) AT (2) q@T
‘i’ o wE flm AT 2 7

(1) afean (2) srrfeedt
gl T gEr faedm w7

(1) faee {2) g
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